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QUESTION 1

Which command creates a new SyncMirror aggregate, letting Data ONTAP select the disk drives? 

A. aggr create aggrX-d 12 

B. aggr create aggrX-m 12 

C. aggr mirror aggrX-m 12 

D. aggr mirror aggrX-n 12 

Correct Answer: B 

 

QUESTION 2

Which three are true when creating a SyncMirror volume? (Choose 3) 

A. The number of disks added must be an even number and equally divided between the twoplexes. 

B. The disks selected forPlex 0 and Plex 1 must come from the same disk pools. 

C. The number of disks selected for oneplex must equal the number of disks selected from the other plex. 

D. The disks are selected first on the basis of equivalent bytes per sector (bps) size, then on the basis of the size of the
disk. If there is no equivalent-sized disk, Data ONTAP takes a larger capacity disk and downsizes it. 

Correct Answer: ACD 

 

QUESTION 3

Five minutes ago, you performed a single file SnapRestore on a large NFS file. 40% of your NFS users are now
complaining about getting "stale file handles" for the file. Which one of the following is the most likely cause of this
problem, and the best procedure to correct it? 

A. These users are on a different subnet from the others. Start troubleshooting by checking their subnet. 

B. After a single fileSnapRestore, NFS users have to reboot their systems. Have them reboot their systems. 

C. This might be due to an NFS storage appliance and client versionmis-match. Check to see that these users have the
same version of the NFS client that existed at the time the snapshot was taken. 

D. NFS users who try to access a reverted file without first reopening it might get a "stale file handle" error message.
Have the users try to reopen the file and see if the problem is resolved. 

Correct Answer: D 

 

QUESTION 4
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Each storage appliance in a cluster must have network access to the: 

A. Internet. 

B. same collection of subnets. 

C. cluster partner. 

D. same administration host. 

Correct Answer: B 

 

QUESTION 5

The two copies of a SyncMirror volume are called_______. Each______is a physical copy of the same file system and
consists of one or more RAID groups. 

A. plexes. plex 

B. volumes, volume 

C. qtrees. qtree 

D. snapshots, snapshot 

Correct Answer: A 
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